COUNTY OF ULSTER

Patrick K. Ryan County Executive



ULSTER COUNTY PURCHASING DEPARTMENT

Edward Jordan Director of Purchasing

CONTRACT AWARD INFORMATION

Title: INMATE CLOTHING AND SUPPLIES

Bid No.: *RFB-UC20-043*

Contract Period: JANUARY 1, 2021 – DECEMBER 31, 2023

Authorized Users: COUNTY OF ULSTER DEPARTMENTS, POLITICAL

SUBDVISIONS, AND OTHERS AUTHORIZED BY LAW

View Specifications at: http://www.empirestatebidsystem.com/

Submit Inquiries to:

Name: *Molly Scott, Buyer*

Phone: 845-340-3408

Fax: 845-340-3434

Email: msco@co.ulster.ny.us

BID DESCRIPTION

The purpose of this bid is to establish a price for the purchase of inmate clothing, bedding, towels, safety, and personal items by the Corrections Department of the Ulster County Sheriff's Office. It is important to note that Ulster County uses commercial grade dryers. Any items with too high of a polyester (or similar synthetic fabric) content might melt. Please pay careful attention to the specifications as listed.

Contract	Contractor	Phone/Fax
Primary Vendor:		
	BOB BARKER COMPANY	Phone: 800-334-9880
BOB BARKER COMPANY	7925 PURFOY RD.	Fax: 800-322-7537
	FUQUAY-VARINA, NC 27526	

COUNTY OF ULSTER

PURCHASING DEPARTMENT

244 FAIR STREET, 3RD FLR, PO BOX 1800 KINGSTON, NEW YORK 12402-1800 (845) 340-3400 / FAX (845) 340-3434

PATRICK K. RYAN County Executive



EDWARD M. JORDAN Director of Purchasing

DEAN RYLEWICZ Deputy Director of Purchasing

December 3, 2020

Tabitha Hartley Bob Barker Company 7925 Purfoy Road Fuquay-Varina, NC 27526

RE: RFB-UC20-043 INMATE CLOTHING AND SUPPLIES

Dear Ms. Hartley

We are pleased to inform you that you are the successful bidder in the above-mentioned bid for Ulster County. The Award information is attached.

The Contract period will be from January 1, 2021 through December 31, 2023.

Please be sure to meet all insurance requirements as specified in bid documents.

Thank you for your interest and we look forward to continued business with you.

Sincerely

Ed Jordan

Director of Purchasing

				BOB BARKER		
LINICEY CLUBT			EST. QTY (IN	UNIT PRICE (PER	EVENDED	
UNISEX SHIRT	5		DOZENS)	DOZEN)	EXTENDED	
S			N/A	N/A	N/A	
M			10	\$62.28	\$622.80	
L			10	\$62.28	\$622.80	
XL			20	\$62.28	\$1,245.60	
2XL			20	\$62.28	\$1,245.60	
3XL			20	\$62.28	\$1,245.60	
4XL			20	\$65.88	\$1,317.60	
5XL			20	\$65.88	\$1,317.60	
6XL			10	\$65.88	\$658.80	
7 XL			N/A	\$68.64	N/A	
8XL			10	\$68.64	\$686.40	
SECTION 1 TO	TAL:	in can	43.48		\$8,962.80	
	21 887 80	262.26	OE			
TROUSERS		547				
S			N/A	N/A	N/A	
M			10	\$74.04	\$740.40	
L			10	\$74.04	\$740.40	
XL			20	\$74.04	\$1,480.80	
2XL			20	\$74.04	\$1,480.80	
3XL			20	\$74.04	\$1,480.80	
4XL			20	\$80.04	\$1,600.80	
5XL			20	\$80.04	\$1,600.80	
6XL			10	\$80.04	\$1,600.80	
7XL			N/A	\$80.04	N/A	
8XL	200	43.46	10	\$80.04	\$800.40	
SECTION 2 TO	OTAL:	17.05			\$11,526.00	
CO)/EDALLC						
COVERALLS	00.879.19		200	6121.00	21/2	
S			N/A	\$131.88	N/A	
M			N/A	\$131.88	N/A	
L			30	\$131.88	\$3,956.40	
XL			50	\$131.88	\$6,594.00	
2XL			50	\$131.88	\$6,594.00	
3XL			50	\$131.88	\$6,594.00	
4XL			50	\$131.88	\$6,594.00	
5XL			50	\$131.88	\$6,594.00	
6XL		a r	30	\$153.60	\$4,608.00	
7XL			30	\$157.32	\$4,719.60	
8XL	TAL S	150	30	\$157.32	\$4,719.60	
SECTION 3 TO	JIAL:				\$50,973.60	
COATS			EST. QTY (EA)			
S			200	\$14.99	\$2,998.00	
•			200	Y±7.55	72,330.00	

M	\$14.99 \$2,998.00
L 200	\$14.99 \$2,998.00
XL 200	\$14.99 \$2,998.00
2XL 200	\$14.99 \$2,998.00
3XL 200	\$14.99 \$2,998.00
4XL 200	\$15.99 \$3,198.00
5XL 200	\$15.99 \$3,198.00
6XL 200	\$15.99 \$3,198.00
7XL 200	\$22.00 \$4,400.00
8XL 200	\$24.00 \$4,800.00
SECTION 4 TOTAL:	\$36,782.00
SWEATSHIRTS EST. QTY	*(Price given in (ea) on price sheet
S N/A	\$62.76 N/A
M N/A	\$62.76 N/A
L 30	\$62.76 \$1,882.80
XL 30	\$62.76 \$1,882.80
2XL 50	\$74.76 \$3,738.00
3XL 50	\$74.76 \$3,738.00
4XL 50	\$74.76 \$3,738.00
5XL 50	Accessor had been a second
6XL 30	
7XL N/A	
8XL 30	\$74.76 N/A \$74.76 \$2,242.80
SECTION 5 TOTAL:	\$23,203.20
	7
BRIEFS S, 5XL, 6XL, 7XL, AND 8XL N/A	N/A N/A
M 60	
L 200	
XL 200	
2XL 80	
3XL 60	\$9.89 \$791.20
4XL 20	\$10.39 \$623.40
SECTION 6 TOTAL:	\$11.78 \$235.60 \$5,892.80
T CLUDTO	
I SHID IS	
	440.00
S N/A	\$18.63 N/A
S N/A 60	\$18.63 \$1,117.80
S N/A M 60 L 200	\$18.63 \$1,117.80 \$18.63 \$3,726.00
S N/A M 60 L 200 XL 200	\$18.63 \$1,117.80 \$18.63 \$3,726.00 \$18.63 \$3,726.00
S N/A M 60 L 200 XL 200 2XL 80	\$18.63 \$1,117.80 \$18.63 \$3,726.00 \$18.63 \$3,726.00 \$23.63 \$1,890.40
S N/A M 60 L 200 XL 200 2XL 80 3XL 80	\$18.63 \$1,117.80 \$18.63 \$3,726.00 \$18.63 \$3,726.00 \$23.63 \$1,890.40 \$24.80 \$1,984.00
S N/A M 60 L 200 XL 200 2XL 80 3XL 80 4XL 100	\$18.63 \$1,117.80 \$18.63 \$3,726.00 \$18.63 \$3,726.00 \$23.63 \$1,890.40 \$24.80 \$1,984.00 \$24.80 \$2,480.00
M 60 L 200 XL 200 2XL 80 3XL 80	\$18.63 \$1,117.80 \$18.63 \$3,726.00 \$18.63 \$3,726.00 \$23.63 \$1,890.40 \$24.80 \$1,984.00

7XL .	N/A	\$28.30	N/A	
8XL	N/A	N/A	N/A	
SECTION 7 TOTAL:			\$14,924.20	
•				
STEP-IN-SHOES				
4XL, 5XL, 6XL, 7XL, AND 8XL	N/A	N/A	N/A	
S	60	\$29.40	\$1,764.00	
M	100	\$29.40	\$2,940.00	
L	200	\$29.40	\$5,880.00	
XL	200	\$29.40	\$5,880.00	
2XL	80	\$29.40	\$2,352.00	
BXL	60	\$29.40	\$1,764.00	
SECTION 8 TOTAL:			\$20,580.00	
	001			
WOMEN'S PANTIES				
5	100	\$6.29	\$629.00	
Δ. Μ	100	\$6.29	\$629.00	
7	100	\$6.29	\$629.00	
8	100	\$6.29	\$629.00	
9	100	\$7.29	\$729.00	
528.45	100	\$7.29	\$729.00	
.1	100	\$7.29	\$729.00	
2	100	\$7.29	\$729.00	
13	100	\$7.29	\$729.00	
ECTION 9 TOTAL:	995		\$6,161.00	
PORTS BRA				
XL, 5XL, 6XL, 7XL, AND 8XL	N/A	N/A	N/A	
	100	\$14.98	\$1,498.00	
Λ	100	\$14.98	\$1,498.00	
70.31-12	100	\$14.98	\$1,498.00	
XL 00.814,02 00.822	100	\$14.98	\$1,498.00	
2XL	100	\$14.98	\$1,498.00	
3XL	100	\$14.98	\$1,498.00	
ECTION 10 TOTAL:			\$8,988.00	
			ON 21	
SOCKS		4		
S	600	\$4.05	\$2,430.00	
M	600	\$4.05	\$2,430.00	
L	600	\$4.05	\$2,430.00	
KL	600	\$4.05	\$2,430.00	
SECTION 11 TOTAL:			\$9,720.00	
PILLOW PAWS SLIPPERS				
S	N/A	N/A	N/A	
M	50	\$8.02	\$401.00	
141	50	\$8.02	\$401.00	

L	50	\$13.57	\$678.50
XL	50	\$13.57	\$678.50
SECTION 12 TOTAL:			\$1,758.00
WHITE TOWELS	300	\$10.50	\$3,150.00
BROWN TOWELS	75	\$13.50	\$1,012.50
SECTION 13 TOTAL:		7.0.00	\$4,162.50
WHITE WASHCLOTH	100	\$1.64	\$164.00
BROWN WASHCLOTH	100	\$2.45	\$245.00
SECTION 14 TOTAL:			\$409.00
WHITE FLAT SHEET	200	\$24.44	\$4,888.00
BROWN FLAT SHEET	100	\$31.00	\$3,100.00
SECTION 15 TOTAL:		φ32.00	\$7,988.00
EXTRA LONG BROWN FLAT SHEET	NA	\$31.00	N/A
SECTION 16			
BROWN FITTED SHEET	100	\$28.45	\$2,845.00
SECTION 17			
WHITE BLANKETS (EA)	1000	\$5.75	\$5,750.00
BROWN BLANKETS (EA)	300	\$6.25	\$1,875.00
SECTION 18 TOTAL:			\$7,625.00
PILLOW CASES	100	\$8.05	\$805.00
SECTION 19			
SUICIDE SMOCK			
34" -52"	24	\$59.00	\$1,416.00
44" -56"	24	\$64.00	\$1,536.00
SECTION 20 TOTAL:			\$2,952.00
SUICIDE BLANKET	200	\$57.90	\$11,580.00
SECTION 21			
RAZORS (1000/CASE)	50	\$108.50	\$5,425.00
SECTION 22		6 • * *********************************	, , , , , , , , , , , , , , , , , , , ,
SHAVE CREAM (1000/CASE)	50	\$47.50	\$2,375.00
SECTION 23			
TOOTHPASTE (144/BX: 5 BX/CASE)	125	\$22.89	\$2,861.25
SECTION 24			

TOOTHBRUSH . SECTION 25	200	\$33.79	\$6,758.00
FEMININE PAD SECTION 26	50	\$17.17	\$858.50
TAMPON SECTION 27	50	\$41.00	\$2,050.00
LONG SANITARY NAPKINS (SAME AS PAD) SECTION 28		\$17.17	
FLEX PENS/ SECTION 29		\$12.95	
MESH LAUNDRY BAG/ SECTION 30	10	\$25.25	\$252.50
FOOD TRAYS/ SECTION 31		\$120.00	1
NON-ELASTIC WAISTBAND JUMPSUIT/ SECTION 32 (SAMPLE ONLY)		\$153.00	